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(mSv/h) (mSv/h) (Bg/cm? (Bg/cm®)
1] 9/28 Y AREEE bR —BHREH N—65L/\—hR HIO 75E-1 1.8E+1
2| 9/28 o AREEE B —BRERS M—7hL—hr HO 6.0E- 1 T.9E+]
3| 9/27 o AREE—BREBR B Mm% HC 6OE+0 | 35E+2 | >27E+2 | 12E-4
4| 9/29 ALPSIV7 315 PHEIIISvH(A) TO0E-1 | 28E-1 | b7JE+1 | <1.4E-4
5| 9/28 ALPSIU7 HICIBRSTAGET] 30E-2 | 10E+0 | 95BE+0 | <14E-4
6| 9/28 ALPSIV7 BAEEPHE T TIL5956(B) 24E-1 | 20E-2 | 40E+0 | <1.4E-4
7] 9/28 BRALPSTU? 1.8E+2
8 9/27 BERALPSTY7 yox70—74)L5—(B%R) 4.0E+0 1.6E+1
5| 10/3 ALPSTU7 HICICRSATAGEZ] 20E+0 | 14E+2 | S209E+2 | <1.4E-4
0] 10/3 ALPSTU7 ##atyT(AR) 2.2E-2 58E+1 | <14E-4
1| 10/3 ALPSTU7 HICIARSATAGE!] 26E-2 | <1.0E+0 | 37E+0 | <1.4E-4
12| o/18 T EKT)7 30E-3 | 1561
3] o/11 T EKHTY7 30E-3 | 1561 <1.82E-5
4] 9/4 T EKBTY7 30E-3 | 16E-1 <1.82E-5
5] 10/ HRALPSTU7 HIC[BRSLUDGEQ) 20E-1 | 20E+1 | <64E1 | <12E4
16 10/1 WERALPSTY7 >2.6E+2
7] _10/3 Y AREEE bR —BRERE AJ—5L/ kR HO 45E-1 7.9E+0
18] 10/3 b AREEE B —BHRERSE P—2/L/ 3 —hR HC 5.0E- 1 9.3E+0
9] 10/3 Y AREES bR —BHRERSE P—8L/A—tR HIC 5.5E- 1 1.2E+]
20| 9/30 b AREE—BREBR B HC 65E+0 | 30E+2 | 18E+2 | 15E-4
21| 9/30 Y AREES bR —BHREEE J—8AL/—tA HIC 11E-1 9.3E+0
22| _10/3 ALPSTU7 /SyFE(20)PHEH TLTvY 23E-2 | 15E-1 | 16E+1 | <1.4E-4
23| 10/3 ALPSTU7 /SyFE(10PHE Y TLTYY 20E-2 | 14E-1 | 16E+1 | <1.4E-4
24| 9/30 ALPSIU7 HICIARSTAGE2] 26E+0 | 16E+2 | 10E+2 | <1.4E-4
25| 9/30 ALPSTU7 $X5PHEHZTL5v5(0) TOE-1 | 65E-1 | BIE+1 | <1.4E-4
26|  9/29 ALPSTUZ $15PHEHTINSv5(A) TO0E-1 | 28E-1 | b57E+1 | <14E-4
21| 10/4 BRAS R 40E-8 | 40E-3 | <B33E-1 | <95E-6
28| 10/3 1R EiL— 4.0E-6
29| 10/3 TFISY A RIRIR - SR E <1.8E-5
30| 8/10 —BREE— B~ —BREENES 18E-2 | 18E-2
31| 8/19 —BRE H—hH KRR <6.2E-]
32| 8/18 —BRE Bk EAHRN <6.2E-]
33| 8/15 —BRE H—mH KRR <6.2E-]
34| 8/19 —BRE BIBE AR <6.2E-]
35| 8/18 —BRE HEEE FKRR <6.2E-]
36| 8/15 —BRE BIBE AR <6.2E-]
37| 8/17 THBHRE 11 Afobs—5—(AT—1) (AT—2) 6.0E-3
38| 8/17 TRBHRE 1B AGHAFvNEY 21E-1 | 21E-1 | B88E+0
39| 8/18 BEENRE 1l SARRYAEETVZHE BBT)7 REBTU7 5.5E+0
40| 8/18 BRBNRE 11 GBTI7 T8 15E+1 | 1.6E+1
A | SRR R 1. 2m 1.24E-1
42| 8/17 ENBEEH T UNRE B ARII—F—(AT—4) (AT—5) 6.0E-3
43| 8/17 ERREBRIA N HRE 20 1.0E-2
| 817 BREENEE 20 25E-2
45| 8/17 TOEATRE 28 AMobs—5—(AT—7) 5.0E-3
16| AT |TotrzmE mEY—k 1.5E-2
47| 8/19 REEWE v \TNIRN BAEE 50E-1 | 50E-1
48| 10/14 MESGZE 288E-4
49| 10/11 1R L — 4.0E-6
50| 10/11 TFISY A IRIRIR  SERE <1.8E-6
51| 10/11 251 R/B W 00E-2 | 25E+0 | »>27E+2
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52| mes HEB Unx | hEx | shex | meas

(mSv/h) (mSv/h) (Bg/cm? (Bg/cm®)
52| 10/11 2EH BEFIFRE 1B KYWHWAOAME PackBot, Kobrallihs 4.0E+0 2 OE-4
53| 10/7 SPTEE 2B 1.5E+0 1.5E+0 1.2E+1
54|  10/7 SREMFRHEE 1R 1.7E+0 1.7E+0 9.0E+1
55| 10/11 B ERAYTFFURNATR 8.0E-2 9.2F+1
56 | 10/3 3B A—EVEE 1B KOET 2.0E+0 1.7E-4
57 9/30 351 R/B 7FEEIV—K R/BiEi&EERT 6.0E+0
58| 10/12 3EH# R/BFE SEEL L. BAN 8.0E+0
59  10/6 38 R/BEMIY—R 2 OE+1 4.2F+2
60| 10/3 324 R/B BR &L 5.0E+0
61 10/7 5-65H# JLFEEIY—K 1.1E+0 <1.1E+0
62| 9/30 45# R/BEMEIY—R 1.7E-1
63| 10/7 v—R(EBMRRSIV7) BEKLT2B 2 2E-1 2 3E+0 >1.4E+3 | <4.82E-5
64| 10/6 v—R(BMRRSTU7) {EEBK 728 8.0E-1 5.0E+0 1.1E+3 | <4.82E-5
65| 10/5 Y—ROEHMRRSTUF) EEKR 2B 2 2F-1 8.0E-1 82F+2 | <4.82E-5
66| 10/4 2EH# T/B 1B MOET. E—4—= 5.0E-1 3.1E+2
67| 10/11 Y—R(EBMRRSTIY) BBMRRSESAE 1.7E-1 26E+0 | <6.73E-5
68| 10/4 v—R(EHEMRRSTU7) HHEMRRSES &= 1.7E-1 77E+0 | <6.73E-5
69| 10/10 YR EBRERERIHIBEIV7) BLREE 1.1E-1 30E+1 | <4.82E-5
70 10/3 TR EREREZHRETY) BEAE 8.0E-2 57E+1 | <4.82E-5
71 10/5 Y REREHBERERBRETYY) F/O0XTO—T4LAARF YR LR 1.0E-1 2 8E+1
72| 10/5 2B T/B 1M b—4— 5.0E+0 4.7E+1
73| 10/6 2EH# R/B 1REFEM 8.0E-1 12E+2 | <5.63E-5
74| 9/29 v—R(®MRRSTU7) {EEBK 728 1.3E+0 1.5E+1 1.4E+2 | <4.82E-5
75|  9/29 Y—R(EHMRRSTUF) ARBEERFUR 3.0E-2 3.4E+1
76| 10/4 3EH# R/B 1REILEEM. HE T, BAlv— 1.5E+1 4.0E-1 >1.5E+3
77| 9/30 HOW&>#TU7 HOW—A1424 ROV <5.0E-4 1.2E-2 6.2E+0 <7.5E-5
78| 9/29 HOW#&> 4~ TU7 HOW—B14>%4 ROV <5.0E-4 1.2E-2 6.2E+0 <7.5E-5
79 9/28 3EH T/B 1R 4.0E+0 4.0E+0 2 5E+2
80| 9/30 B4 2k 2R AINOA B B 1.0E-2 4.4E+0
81 9,/26 AEH T/B 1B HERLUHUTILE IR R—IL 5.0E-1 40F-2 | 4.79E+1 7.41E-5
82| 9/28 HIRL KA~ TRL VBB (—R) 1.0E-1 3.60E+]
83| 10/3 124 T/B Jtm@Iv—R. 324 T/B =EIv—k 7.0E-1 <1.47E+0 | <1.76E-5
84| 9/29 1E4#% R/B-T/B-v—R 7.0E+0 6.76E-5
85| 9/21 PEEAE EERITTR 8.0E-1 16E+1 | >1.41E+3
86| 9/26 124 54—ty 1, 28 1.1E-1 1.1E-1 3.93E+2 6.17E-5
87 9/30 i@%hR/B SR (CHA—V T REBANE) RMENEE T7—h—R I7—8MEl S D EE-1 493E+0
8s| 9/30 184 42—ty 1, 28 5.0E-1 80E+0 | »>1.32E+3 3.28E-5
89| 10/6 1E4# T/B S/B Rw/B 1p& 4.0E+1 3.28E-5
90 | 10/11 IEHMETFERE WMERMEHER I SHEHTBIS 3.5E+0
91 9,/28 3B TEAE R 4.6E+0
92| 10/4 #EAT—ILEE BED/GAAFCEA 4.0E-2
93| 10/3 FR B = wk3(RW-D007) 45E+0 6.0E-1
94 10/5 KER S RER 2.0E-2 3.2E-2 8.3E+1 5.03E-4
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